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 INTERMEDIATE EXAMINATION – 2020 (ANNUAL) 

Model Set 

Geography

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- iz'uksa dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted to read the questions 

carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections : Section-A and Section-B. 

5- [k.M&v esa 42 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa ds mÙkj nsus gSaA 

izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA vxj 35 oLrqfu"B iz’uksa ls vf/kd ds 

mÙkj fn;s tkrs gSa] rks izFke 35 mÙkjksa dk gh ewY;kadu fd;k tk;sxkA 

OMR&mÙkj i=d ij vius p;fur oÙ̀k dks dkys@uhys ckWy isu ls HkjsaA 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full marks - 70 
iw.kkZad & 70 

323 
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fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV 

ij iz;ksx ugha djsa] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 42 objective type questions out of which 

any 35 questions are to be answered. Each question carries 1 

mark. If more than 35 objective type questions are answered, the 

first 35 answers will be evaluated. Darken your selected circle on 

the OMR answer sheet with black/blue ball pen. Do not use any 

type of Whitener/Liquid material/Blade/Nail etc on the OMR sheet 

otherwise the result will be invalid. 

6- [k.M&c esa 18 y?kq mÙkjh; iz’u gSa ¼izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSa½ 

ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsus gSaA blds vfrfjDr] bl [k.M esa 6 nh?kZ 

mÙkjh; iz’u gSa ¼izR;sd ds fy, 5 vad fu/kkZfjr gSa½ ftuesa ls fdUgha 3 iz’uksa ds 

mÙkj nsusa gSaA 

In Section-B, there are 18 Short answer type questions (each 

carrying 2 marks) out of which any 10 questions are to be 

answered. Apart from this, there are 6 Long answer type questions 

in this section (each carrying 5 marks) out of which any 3 

questions are to be answered.  

7- fdlh izdkj ds bysDVªkWfud midj.kksa dk mi;ksx iw.kZr% oftZr gSA 

Use of any type of electronic appliances/devices is strictly 

prohibited.
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/ Section-A 

/ Objective Type Questions 

la[;k 1 ls 42 rd ds izR;sd iz’u ds pkj fodYi gSa] ftuesa ls ,d lgh gSA vkidks fdUgha 

35 iz’uksa ds mÙkj nsus gSaA vius }kjk pqus x, fodYi dks OMR-'khV ij fpfàr djsaA 

(35x1=35) 

Each question from No. 1 to 42 has four options out of which one is correct. 

You have to answer any 35 questions. Mark your selected option on the 

OMR-sheet.          (35x1=35) 

1- dkSu lkekftd Hkwxksy dk mi{ks= ugha gS\ 

A- fyax Hkwxksy     B- lkaLd`frd Hkwxksy 

C- lSU; Hkwxksy     D- fpfdRlk Hkwxksy 

Which is not a sub-branch of social geography? 

A. Gender geography   B. Cultural geography   

C. Military geography   D. Medical geography 

2- mPp tula[;k of̀) nj okyk ns’k gS % 

A- ;eu      B- MsuekdZ  

C- Lisu      D- :l 

Country having high rate of population growth is : 

A. Yemen     B. Denmark 

C. Spain     D. Russia 
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3- dkSu izfrd"kZ dkjd ughsa gS \ 

A- tykHkko     B- csjkstxkjh  

C- fpfdRld lqfo/kk    D- v’kkar okrkoj.k 

Which is not a Push factor? 

A. Water scarcity    B. unemployment 

C. Medical facility    D. Disturbed environment 

4- ^dk;Z’khy tula[;k dk vk;q oxZ gS%& 

A- 0&15     B- 15&59  

C- 10&35     D- 65&79 

Age group of working population is: 

A. 0-5      B. 15-59   

C. 10-35     D. 65-79 

5- buesa ls dkSu ekuo fodkl dk LrEHk gS\ 

A- lerk     B- lrr iks"k.kh;rk   

C- mRikndrk     D- mi;qZDr lHkh 

Which of these is the pillar of human development? 

A. Equity     B. Sustainability  

C. Productivity    D. All of the above 
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6- rr̀h; vkfFkZd fØ;kdyki gS% 

A- O;kikj     B- lsok,¡  

C- lapkj     D- mi;qZDr lHkh 

Tertiary economic activity is: 

A. Trade     B. Services 

C. Communication    D. All of the above 

7- fcx bap lEcfU/kr gS% 

A- ikbiykbu ls    B- jsy ekxZ ls   

C- ok;q ekxZ ls     D- lM+d ekxZ ls 

Big inch is associated with: 

A. Pipeline     B. Railway 

C. Airway     D. Roadway 

8- Ukk¶Vk vfLrRo esa vk;k% 

A- 1994 esa     B- 2004 esa  

C- 1947 esa     D- 2012 esa 

NAFTA came into existence in: 

A. 1994     B. 2004 

C. 1947     D. 2012 
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9- o`gn Vªad ekxZ xqtjrk gS% 

A- mrj vVykafVd egklkxj gksdj   

B- Hkwe/;lkxj&fgUn egklkxj gksdj 

C- nf{k.k vVykafVd egklkxj gksdj  

D- mrj iz’kkar egklkxj gksdj 

The Big trunk route passes through: 

A. North Atlantic ocean   

B. Mediterranean sea-Indian ocean 

 C. South Atlantic ocean    

D. North Pacific ocean 

10- buesa dkSu vkSn~;ksfxd uxj gS \ 

A- okjk.klh     B- iVuk 

C- ykgkSj     D- fiV~lcxZ 

Which of these is an industrial city? 

A. Varanasi     B. Patna 

C. Lahore     D. Pittsburgh 

11- Hkkjr esa lokZf/kd tu òf) dh vof/k Fkh % 

A- 1901&11     B- 1931&41  

C- 1961&71     D- 1991&2001 
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The period of the highest growth of population in India was: 

A. 1901-11     B. 1931-41 

C. 1961-71     D. 1991-2001 

12- rfeyukMq esa dkSu Hkk"kkbZ ifjokj izeq[k gS\ 

A- vk;Zu     B- phuh 

C- nzfoM+     D- vkWfLVªd 

Which linguistic family is prominent in Tamil Nadu? 

A. Aryan     B. Chinese 

C. Dravidian     D. Austric 

13- buesa ls dkSu xzkeh.k cLrh dk izdkj gS\ 

A- xqfPNr     B- v)Z&xqfPNr 

 C iYyhd`r     D- mi;qZDr lHkh 

Which of  these is a type of rural settlement? 

B. Clustered     B. Semi-clustered 

C. Hamleted     D. All of the above 

14- uxj tks iwohZ Hkkjr esa vofLFkr ugha gS % 

A- iVuk      B- /kuckn 

C- te’ksniqj     D- ukfld 
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The city not located in eastern india is: 

A. Patna     B. Dhanbad 

C. Jamshedpur    D. Nasik 

15- buesa dkSu ,d e/;dkyhu uxj gS\ 

A. vkxjk     B- iVuk 

C- paMhx<+     D- lwjr 

Which of these is a medieval town? 

A. Agra     B. Patna 

C. Chandigarh    D. Surat 

16- buesa ls dkSu mrj Hkkjr esa jch dh Qly gS\ 

A- xsgw¡      B- dikl 

C- cktjk     D- eDdk 

Which of these is a Rabi crop in north india? 

A. Wheat     B. Cotton 

C. Bajra     D. Maize 

17- dkQh mRiknd jkT; gS % 

A- dukZVd     B- fcgkj 

C- vksfM’kk     D- iatkc 
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 Coffee producing state is: 

A. Karnataka    B. Bihar 

C. Odisha     D. Punjab  

18- gfjr Økafr dk lEcU/k gS% 

A- pk; mRiknu ls    B- nw/k mRiknu ls 

C- [kkn~;kUu mRiknu ls   D- buesa ls fdlh ls ugha 

Green revolution is associated with: 

A. Tea production    B. Milk production 

C. Food production   D. None of these 

19- dkSu unh csflu iwohZ Hkkjr esa gS\ 

A- fla/kq csflu     B- rkIrh cssflu 

C- egkunh csflu    D- ekgh csflu 

Which river basin is in eastern India? 

A. Indus basin     B. Tapti basin 

C. Mahanadi basin    D. Mahi basin 

20- ySxwu vkSj i’pty ik, tkrs gSa % 

A- dsjy esa     B- vksfM’kk esa 

C- if’pe caxky esa    D- mi;qZDr lHkh esa 



10 
 

 

Lagoons and Backwater are found in: 

A. Kerala     B. Odisha  

C. West Bengal    D. All of these 

21- buesa ls dkSu ykSg&v;Ld mRiknd dsUnz gS\ 

A- cknke igkM+     B- xq:efglkuh 

C- fdjhcq:     D- buesa ls lHkh 

Which of these is an iron ore producing centre? 

A. Badampahar    B. Gurumahisani 

C. Kiriburu     D. All of these 

22- buesa ls dkSu v/kkfRRo [kfut gS\ 

A- ckWDlkbV     B- ykSg v;Ld 

C- vHkzd     D- rk¡ck 

Which of these is a non-metallic mineral? 

A. Bauxite     B. Iron ore 

C. Mica     D. Copper 

23- buesa ls dkSu ckWDlkbV ls lacaf/kr ugha gS\ 

A- dksjkiqV     B- x;k 

C- Hkkouxj     D- lEcyiqj 
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Which of these is not associated with Bauxite? 

A. Koraput     B.Gaya 

C. Bhavnagar    D. Sambalpur 

24- Hkkjr esa ik, tkus okys dqy dks;yk dk fdruk izfr’kr fcVqfeul izdkj dk gS\ 

A- 10 izfr’kr     B- 50 izfr’kr 

C- 80 izfr’kr     D- 15 izfr’kr 

What is the percentage of Bituminous type out of the total coal 

found in India? 

A. 10 %     B. 50% 

C. 80%     D. 15% 

25- ;wjsfu;e fdl Øe dh pêkuksa esa ik;k tkrk gS\ 

A- foa/;u     B- Vf’kZ;jh 

C- /kkjokM+     D- xks.Mokuk 

In which rock-system is uranium found? 

A. Vindhayan    B. Tertiary 

C. Dharwar     D. Gondwana 

26- bu rsy ’kks/ku’kkykvksa esa dkSu mÙkj Hkkjr esa ugha gS\ 

A- ikuhir      B- eFkqjk 

C- cjkSuh     D- psUubZ 
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Which of these oil refineries is not in north india? 

A. Panipat     B. Mathura 

C. Barauni     D. Chennai 

27- jkorHkkVk ijek.kq ÅtkZ dsUnz fdl ’kgj ds fudV vofLFkr gS\ 

A- iVuk      B- dksVk 

C- ef.kiky     D- fiykuh 

Near which city is Rawatbhata atomic power centre situated? 

A. Patna     B. Kota 

C. Manipal     D. Pilani 

28- fHkykbZ LVhy la;a= dks;yk izkIr djrk gS % 

A- /kuckn ls     B- psUubZ ls 

C- dksVk ls     D- dksjck ls 

Bhilai steel plant gets coal from: 

A. Dhanbad     B. Chennai 

C. Kota     D. Korba 

29- gqcyh lwrh oL= dkj[kkuk fdl jkT; esa vofLFkr gS \ 

A- if’pe caxky    B- dukZVd 

C- iatkc     D- xqtjkr 
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In which state is Hubli cotton lextile mill located? 

A. West Bangal    B. Karnataka  

C. Punjab     D. Gujarat 

30- vksfM’kk dk lkW¶Vos;j rduhdh ikdZ vofLFkr gS% 

A- Hkqous’oj esa     B- iqjh esa 

C- dVd esa     D- fpYdk esa 

Software technology park of Odisha is siturted in: 

A. Bhubaneshwar    B. Puri

C. Cuttack     D. Chilka 

31- Hkkjr es futhdj.k ,ao oS’ohdj.k dh uhfr viukbZ xbZ% 

A- 1947 esa     B- 1951 esa 

C- 1991 esa     D- 2010 esa 

The policy of privatisation and globalisation was adopted in India 

in : 

A. 1947     B. 1951 

C. 1991     D. 2010. 

32- buesa ls dkSu vkS|ksfxd ftyk gS\ 

A- iwf.kZ;k     B- Hkksiky  

C- dkuiqj     D- mi;qZDr lHkh 
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Which of these is an industrial district? 

B. Purnea     B. Bhopal 

C. Kanpur     D. All of the above 

33- tula[;k dk ?kuRo lokZf/kd gS% 

A- mrj izns’k esa    B- fcgkj esa 

C- if’pe caxky esa    D- dsjy esa 

The highest density of population is in: 

A. Uttar pradesh    B. Bihar 

C. West Bangal    D. Kerala 

34- jk"Vªh; egkekxZ&2 gS% 

A fnYyh&ve`rlj    B- fnYyh&dksydkrk 

C- iVuk&iwf.kZZ;k    D- iVuk&njHkaxk 

Natioanl Highway-2 is: 

A. Delhi-Amritsar    B. Delhi-Kolkata 

C. Patna-Purnea    D. Patna-Darbhanga 

35- o"kZ 2001 esa lM+dksa ds lokZf/kd ?kuRo okyk jkT; Fkk% 

A- dsjy      B- fcgkj 

C- iatkc     D- xksok 
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In the year 2001, the state having the highest density of roads 

was: 

A. Kerala     B. Bihar 

C. Punjab     D. Goa 

36- nf{k.k jsyeaMy dk eq[;ky; gS% 

A- psUubZ esa     B- gqcyh esa   

C- dksydkrk esa     D- gkthiqj esa 

The headquarters of Southern Railway Zone is in: 

A. Chennai     B. Hubli  

C. Kolkata     D. Hajipur 

37- Hkkjr esa izeq[k iŸkuksa dh la[;k gS% 

A- 5      B- 12 

C- 27      D- 186 

The number of major ports in India is: 

A. 5      B. 12 

C. 27      D. 186 

38- Hkkjr esa ok;q ifjogu dh ’kq:vkr gqbZ% 

A- 2001 esa     B- 1911 esa 

C- 1921 esaa     D- 1931 esa 
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Air transportation started in India in: 

A. 2001     B. 1911 

C. 1921     D. 1931 

39- vkWy bafM;k jsfM;ks vfLrRo esa vk;k% 

A- 19+57 esa     B- 1936 esa 

C- 1911 esa     D- 1999 esa 

All India Radio came into existence in: 

A. 1957     B. 1936 

C. 1911     D. 1999 

40- dksydkrk iÙku fdl unh ij vofLFkr gS\ 

A- egkunh      B- gqxyh 

C- lksu      D- ueZnk 

On which river is Kolkata port located? 

A. Mahanadi      B. Hugli 

C. Son      D. Narmada 

41- Hkkjr dk fo’kkyre daVsuj iŸku gS % 

A- dkaMyk     B- gfYn;k 

C tokgj yky usg:    D- eqEcbZ 
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India’s largest container port is: 

A. Kandla     B. Haldia 

C. Jawahar Lal Nehru   D. Mumbai 

42- buesa dkSu i;ZVu uxj ugha gS\ 

A- elwjh      B- mMxeaMye 

C- ekmaV vkcw     D- vadys’oj 

Which of these is not a tourist town? 

A. Mussoorie    B. Udagamandalam 

C. Mount Abu    D. Ankaleshwar   

Section-B (Non-Objective Type Quesitons) 

Short Answer Type Questions

iz’u la[;k 1 ls 18 rd y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSA         (10x2=20) 

Question no. 1 to 18 are Short answer type. Answer any 10 questions. Each 

question carries 2 marks.        (10x2=20) 

1- jktuhfrd Hkwxksy ds nks mi{ks=ksa ds uke fyf[k,A     2 

Name two sub-branches of Political geography. 
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2- tula[;k ds ?kuRo ls vki D;k le>rs gSa\      2 

What do you mean by density of population? 

3- ekuo fodkl ds pkj LraHkksa dk mYys[k dhft,A     2 

Mention four pillars of human development. 

4- fuokZg d`f"k D;k gS\         2 

What is subsistence farming? 

5- vksfj,aV ,Dlizsl }kjk tqM+s nks uxjksa ds uke fyf[k,A    2 

Name two cities connected by Orient Express. 

6- fo’o O;kikj laxBu ds vk/kkjHkwr dk;Z D;k gSa\     2 

What are the basic functions of World Trade Organisation? 

7- lkaLd̀frd uxj ds pkj mnkgj.k nhft,A      2 

Give four examples of cultural town. 

8- LFkku vkSj vofLFkfr ds chp varj Li"V dhft,A     2 

Differentiate between site and situation. 

9- tu&izokl ds i;kZoj.kh; izHkkoksa dh O;k[;k djsaA    2 

Explain the environmental effects of human migration. 

10- iwohZ Hkkjr ds pkj egkuxjksa ds uke fyf[k,A     2 

Write the names of four metropolitan cities of eastern India. 

11- ’kq"d d`f"k D;k gS\         2 

What is dry farming? 
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12- ddZ js[kk ds mŸkj fLFkr Hkkjr dh fdUgha nks unh&csfluksa ds uke fyf[k,A 

Write the names of any two river basins of India situated north of 

the Tropic of Cancer. 

13- vijaijkxr ÅtkZ lzksrksa dk mYys[k dhft,A     2 

Mention non-conventional sources of energy. 

14- iVªksa&jlk;u m?kksx D;k gS\        2 

What is petro-chemical industry? 

15- i0 Hkkjr ds nks vkS|ksfxd izns’kksa ds uke fyf[k,%&     2 

Write the names of two industrial regions of western india. 

16- izFke iapo"khZ; ;kstuk dh vof/k D;k Fkh \      2 

What was the period of the first five year plan? 

17- eqDr vkdk’k uhfr ds D;k ykHk gS\       2 

What are the advantages of free sky policy? 

18- lapkj ds pkj ek/;eksa dk mYys[k dhft,A      2 

Mention four means of communication. 

Long Answer Type Questions

la[;k 19 ls 24 rd nh?kZ mÙkjh; iz’u gSaA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA fdUgha 3 

iz’uksa ds mÙkj nsaA         (3x5=15) 
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No. 19 to 24 are Long answer type questions. Each question carries 5 

marks. Answer any 3 questions.      (3x5=15) 

19- fu’p;okn ,oa laHkookn dh vo/kkj.kk dh foospuk dhft,A 

Discuss the concept of determinism and possibilism. 

20- Ms;jh d`f"k  dk o.kZu dhft,A 

Describe dairy farming. 

21- Hkkjr esa phuh m|ksx ds forj.k dh O;k[;k dhft,A 

Explain the distribution of sugar industry in india  

22- varjk"Vªh; O;kikj esa iukek ugj dh egŸkk dh foospuk dhft,A 

Discuss the importance of Panama canal in international trade. 

23- Hkkjr esa isVªksfy;e ds mRiknu ,oa forj.k dk fooj.k nhft,A 

Give an account of the production and distribution of petroleum in 

India. 

24- Hkkjr dk ekufp=a  cukb, rFkk bl ij Lof.kZe prqHkqZ"k egkekxZ dks iznf’kZr 

dhft,A 

Draw a map of India and show the Golden Quadrilateral Highway 

on it. 

 


